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46 - Entering top universities in special fields is not as easy as you .................. . You have to try your

hardest to gain a PhD position there.

suppose @) confirm 3 belong @) identify
47 - How long .................. in this neighborhood? | think you are the oldest one living here.
have you lived @ did you live @) you are living (@ you have lived
48 - The increasing construction of factories in this area is believed to .................. the wildlife; that's why

people are gathering in front of the president’s office.

endanger @ increase protect divide
49 - Do you remember that painfully thin man .................. burst into tears for the picture of his late dad
.................. was shown to him?

whom / that 2 who / whom who / that which / that

50 - The house my father had rented was very oid .................. we lived there for at least fifteen years

until he could buy a flat.

so comfortable, but (2) but comfortable, so (@) so comfortable, and (@) or comfortable, but

51 - Their government'’s policies on education have .................. in too much difficulty for the families to
pay for the fees and prices of education.

(@) imagined @ resulted improved @ increased

Read the following passage and then choose the correct answer.

Hafez is known to be as one of the most famous Persian poets of all time. He was born sometime
between the years 1310 and 1337 A.D. in Shiraz. In his childhood, he ......... A........ religious education. He
is called Hafez because he learned the Holy Quran by heart. Hafez is ....... B........... remembered for a
special type of poetry that is called Ghazal. ........ Covvreeee and ethics are used in Ghazals a lot. The
....... D........... of his poems is called Divan. It .......E.......... into countless languages including German,
English and French so far. Hafez is known to be the inspiration for many poets and authors around the
world.

52-E
has been translated @ is translated will translate is translating
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53-A

received @ discovered lowered generated
54-B

repeatedly @ recently mostly fluently
55-C

Abilities (2 Disorders Emotions Goals
56-D

advice @ collection collocation diary
Passage 1:

Dr. de Grey believes that we can control aging. He says aging is caused by damage to the cells of the
human body, and if we fix the damaged cells, then we will cure aging. This means that humans will be
able to live for 1,000 years and maybe even longer. In addition, he believes that people who are 1,000
years old will be strong and healthy, full of physical and mental energy. He thinks this is a wonderful
possibility. For example, people often have many new ideas and things they want to do, but they die
before they can finish them. If they can live for 1,000 years, they will have more time to complete their
goals.

However, many people disagree with de Grey's ideas. They say that even if we could increase the
natural human lifespan, it would not be a good thing. They argue that aging is a natural part of the
human experience. If people started to live much longer, the world would have too many people in it.
How would we feed everyone when there are so many poor and starving people in the world today?
Even if there was an aging cure, they say, it would be so expensive that only rich people could afford it.
Finally, they argue that most people would not want to live for that long.

Dr. de Grey is not worried about these arguments. As we live longer, he says, we will have a greater
chance of solving the world’s problems. We are losing 100,000 people to old age every day. If we can
cure aging, he says, we are gaining the chance to save lives. According to Dr. de Grey, that is the most
important thing a person can spend their time doing.

57 - The underlined word “afford” is closest in meaning to .................. .

() figure out @ look for help out pay for

58 - Which of the following statements is TRUE, according to the passage?
A hundred thousand people die in a day on average worldwide.
(2 Dr. de Grey considers aging a normal part of life taking place in all species.
@ Not everyone would be necessarily willing to live as long as one thousand years.

(@ Having received so many rejections from other scientists, Dr. de Grey has given up his idea.

59 - Which of the following is among the reasons why some scientists are against Dr. de Grey's idea?
They think rich people should not live more than others.
(2 They think people who are 1,000 years old will be weak.
(@) They believe that wanting to live forever is unnatural for humans.

(@ They believe that if aging were cured, the world would be too populated.

<v

\ Y

k__ cerf



/— OLS LT o8 jgol 1
60 - Which of the following best describes the function of paragraph 2 in relation to paragraph 1?
It further supports the point made in that paragraph.

@ It provides an exception to the theory mentioned in that paragraph.

It denies the necessity of the challenge described in that paragraph through facts.
(@) 1t doubts the possibility of the claim made in that paragraph by providing scientific evidence.
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